
oefl- 10

QUEST\2N EaNK

TFrd
(MATHEMATICS)

q;q-1



qg- 01

qr€fu+. M )

cglffiq sn
1 - ft-q fr ci fu-{r qRtq qt<n o-r ErFrc,,. lmtc sid t r

(a) "lr, (b) "1r, (c) ,rl* (d) ,r/r,

2-ftqtdqRiqi{qrt
(a) r/s (b) 6.666........ (c) z+^lz (d) {34

s _- s)"rq[rii 6I Xur;rq-c{ qrr+s 5f,f,r g -g=rd

(a) LCM+HCF d (b) LCM-HCF d (c) LCM"I-ICF d (d) fl{ t otg n_€l

. nm
4 - 1TC4T[ 5oo or 2--5'^ sq t !

(u) z3s2 (b) zzsa (") zlsa (rl)22r3

625- 25 iltlEdEr
(a) 1600 (b) 800 (c) 3200 (d) 2s00

frkdd lrmtq q€"

o - rrqr p'q 40 6r qoqoso (IICF) 4 t ol aoriovol t_cNa) e-dr{tr I

T -- r+o o) 3{lTt',q 1onErrs d s.r.} ftM r



u -"lrrr.16T qyrqEFr r*o #f* qr ersio on+ff

,-1'/6 * qqrrrcm c-gx Hrd t qr €rsrd en+ff r

,o-uo/o5ro-r ETqa-qc-sn Erd t qr er*+ra eir+ff r

,,-rtl6 cDT Esf+rFrq c-sn sid t qr ersrf, eir+ff f

12 - soos o) erqrq Xqrqo-s d sc t fufut r

'13 - 40 q so d fis ol erqrsq n:qrt ftM r

eTfudg vmftq sr{
14 - 212s2 d srrr;q Xuri-so-s d sq t ftftrt r

'15 - soos o) qqTq Xu6qo-s d rq it ftfud r

16 - 221s o\ erqrw XqTqo-s d sq t tfua r

17 - t42s o1 en+r-.,q Xur{go-s d w t ftfud f

'18 - 3825 o) st.Trq Xurrqo-s d sc tt ftM r



':
1s - G-{r dS fu+Trq-{ cfuqr d e-drft f4, €c<r ls/,uoo 6r EyFrottr q-*rfr

sio t qr 3i-siil ormff I ,

20 - qrsr tn<) zxrrxrg+13 E;r Em \'6 qraq €qr t' r

zr - qqr zoooo srl 2's- d sq fr q-w o-t t

zz - ftffi c{s fr oro sflqi srfr c6 Q-{r o1 9-6-S o} sz rre€t qrd \,o' silff t-s d fid
qrd osfl Br fft erd d rs-qrc fiqr sr& KFii ( cffi ) t cTd orfl tr vc w+i
q,1srfuo-ilq fiqr EqT t ffi t qrd os rro.d t r

dgwrtq c5
za - ftIq otM fu z+{e \'6 oTqftiq q,I-qr t I

24 - fr< otftd fu r/e qfi orqRsq €cqr B I

zs - fua q,1fui fu z+r/s go Grqfris iir<rr g 
I

zo - fua otftr$ fu s+z{e T6 srqRiq HrqT t

zz -- gftrs l+nwc \-fliRQrrr or c-qt r o-r ricqrori 42 s 4ss 6r cor{oso srn o-t t



28 - fu-S dd d nqrq d qrt sN^g6 Tf,tiDR ceT t r gs i-ilr 6T w 
"FFD-{ 

drni fr dhqTt tu F.* d.ri t q-{fu {s tsrr 6T vo am-r'arni q qh; rz it+e a.ri t, qrc
d) t +iT ro f unnr qt{ gfi fi sq-q cr vfi fi fr$r t q-dqr c*rq 6-G tr ffitr.rq t t g{. crfiro rQTnT q ffit ?

zg-.=rkqfuot-{fie*-fli'fu wt" 6q+rw 6q+3 w 6q+5 dworildrt,
s-fr qot{ Wto t r

s0 - e6, 4o4, qT doqoco( LCM) e6e6 t aov.ovol HCF) q_dr{q 
I

31- 12,15 sr zr or s*rq {u-qrs frD t do*oso ( LCM) den coqoso ( HCF) Eroqifucl

32-17, 23 et{ zs 6,- 3r+,-q gurrrro-s ftl$ t soqoqo GCM) den qoq.so ( HCF) gn dfuq r



IIR' _ 02

Tgfuocfrq sg
1. ftq qgq-q ptxl t vpv+t sfi sqr e-drt

(aJ 1 (b) 2 (cJ 3 (d) 4

2. ftq fr t o)-{ tfu-6 vgss l-S t r

P(x)

(a) 2x-3 (bl *-;

3. p(x] = x2- 3xd nl p(r)or qn e).rn t

(a)'2 (b) vs [c) 50

+. Eqrd s-fi-6-iq zx?+gx+3=gd qq-6) or frq 5f.nt

G) *i

[cJ 2x+10 (d) x3+7

(d) :

(c) 3 (dl 0tb) 2

s. Eqn rlfro-iur 'axz+bx+c: 
O d elmo-aq ftn-i qvo d e-ot t I

(a) d (b) qn (c) fic (d)'fiq



6. sfi-fi-{q'ax?+bx+c = 0 q c[q-o.t or XwTrEd Etdr t-
(b) a2 +b2

-2t),= (d)b+ccl;

7. 3 d celrT s Xurd or zhq 6f.n f

(a) a5 &l ss

11. Eqra e-gv-< d qqrch\r 6'r q}q fint
(a) -2 (b)2

8. qR Bqrd sfr-f,i,ry (K-1)x2 + Kx +t or 96 elqf6 -3 t d K 6r cr{ *Tr ?

e. Bq1ril s{-6-{ur +,ft, fuH-d qqrf, -3 frr -4 t I

(a) x2-x-12 (b) x2+x=12 (c)x212-x/2-6 (d)2x2-.2x-24

10. Eqrf, qgsq 12+71110 d clqrfit or X"nra fint
(a) I (b) 7 (c) 10 (d) 17

(cl 65

(c) -8

(d) 7s

d)8

frFdf, wrtq c{H

rz. fu-*r qgqq g 3 v[vo 5fi1



13. fu-s e-gqE d 3 sXq6 Eti I

t-.._
.=

I 
^..''-t\

)-r-c+-
14. fr.qrfl sfi-orur qil q;r6 rq ftfuc?

rs. Eqro qgqq x2-2x-8 d vgo Erd dfuc?

16. fu, t vgc-q p(x) d fuc y=(x) 6T TFF frqr d p(x) d yp-oi o1 ricqr sro
dtuc?



17. Bqrd vfi-firq x2-25-o d To gro dfug ?

ra. Bqrf, qgqq lx2-Sx+4 d clslq'i or frq s {uFiFd sn sAfqc ?

rs. vs Bqrd {gqE Erd dfuc, ftffiS eTqlol or q}q aen Xgrcs.d mqcr' % -t t' z

zo. cgrct S fuq fu,Trs{ \-dilRprc eqr t' ?

GTFtrdg vctq cr{
21. 6x2+7x-3= 0 d slqo-t or frq vs Xuns-d gn oi t

zz. Bqro $fi-f,iq sxl+6e2:g i qR x=2 Td d ril k o-r qrq gro sifuC r

zs. kd fo-s qn 6 6q Bqrd qq-m-rur zkx?+qOx+ZS-Od {e wqrc dftt

zt. pd fu-s qrl 6 169 fturo sfi-f,iq px2+2px+2:0d na wn df

2s. ftqrd Hfr-o-i"r x?+zx+t:od qfi-fi{ur ii tdr o.r ffi aro o1fuc I



26. qR rrff-o{rr 9x?+t2x+k:o d 1a snn t d t<or qrc Erf, Afuc t

zz. Bqo qgqq 2x2+7t2fit4 d sXqro srd dfuc?

dgstr€rq sE

zs. Bqrf, qgqq v2-l1-g d vluo sro dfuq *i cfqiot ui- g"n-"1 d ffq sq+l o1

we+or o1 qfu qAftq 
r

zg.3x2-ztd qlq-fi Erf, afuC t

ao. {EW x3+3x2+5x: -3 o'r x-r t qrq ti w qrrma osTr ts.F-m gro dfug r

31. To Eqrd q-grE fld dfuC ffi 3["q-s) d drrrd der {qTq-d oqcr r, -r t t

32. p(x) of g(r) t .Tr.r tfi qrqFd oen ttss-d sr6 dfuV?

p(x):x3-3x2+5x, eG):v:-2

se. qR x3-3x'+x+2o) gfi e-gq( g(x) t rrFr Ai q{, r+trFFd silT tvw-d ir-qcr. x-2 siT
-2x+4tde(x)flddfuC?



34 Gqro {fi-f,{q 2x2+x-4:o d aa ffi frtr t gro dfuc I

35. fturd qgqs x2+7x+r0 d q;+o oro o1fuq 3N Y[qdt ew X"riot $ fi-q $ qq-aT

ot strdr of da dfuc t

so. {gqq x2-: d quo 5p6 dfwv Si clq-6i aerT xuriot A a-q + qq+r a1 ssot
01 d's dfuc t

gz. sl-*r-3*+5 ol x-l-x2 t qrq fifuq sflr fuTIcq gdilR a o1 wsor tn1 d-q dfuc t

38. 2x4-3x3-3x2+6x-2d w,ft vg+o Em otfuC, qfr 3flT61{q-d dr vSvo y'z

*i -y'2 Erd t I



glt, - 03

d att qrA tfuo, sfto-wr gq
e-gffi+ rw

r. tfuo {fifiur or eird-q *or t t

(a).. €$ tur (b). tr{qdq (c). co (d).ro

z. tfuo g.t wtro-tor a1x+b1y+c;0, a2x+b2y+cr=o,d sTtrfi-q ra di q{ rrltr e}-tn tr

I
s. trfi-o-rq x+2y+5:0 elk -3x-dy+l=o d w di-i?

(a).. erBfi-q ro (b). d ro (c). ori-o' 6m (d). ot{ ..fr ra q-S

+. qR tqrC 3x+2ky:2 Y{ 2x+Jy:1 q($N srlT<l-{ t d t or qrq Ef'n-

@) -s/a (b)2ts @) tfla @) 3/2

u. 
" 

6 fo-s cH d fuC sfi-o.-{ur cx-y=2 3i{ 6x-2y:3 d erc-< aa fir
(d) 12(a) 3 (b) -3 (c) -12



ftkdd wrfrq sE

o. t d ft-s qn d fuC sfi-o.-{q 3x-y: -3 eilt Ox-ty: -16 grqffi ffiz

z. tfuo sfif,i"r {fi atx + bfl + c1 = 0,a2x } b2y tcz = 0 ti d{m \S I fg 6fi ot
cRfurfr ftrdt

8. ci-gqrf,t al/a2,bllb2, cl/c2,fr gdqr o-{ Oro sAfuq fu ftq Hfi-f,{q d g.r iirro t w
olfirrfl?

2x-3y-g ,4x-6y-9

oTlrdq softq sr{

s. y'3*'+ 1ox-8V3 =ora oit

10. K o.r fo-s qrq i-g sfi-*_i"r 3x-y+3 = 0 ot{ 6x-ky-16 : 0 sqrft tqrS t'pt r

11. Hffo-** x-3v -2 etr -zx+6v - s t-g qrq o1 M cM-fi i' qr r€t e-dri r

12. qfi-o-rq x-7 :0 6-r qFD x oieT d qqr<-t t ererqr +& orsq +ori r



13. kd fo-s qn d fuC, ftq tfuo. effi d g,q d 3TqRfrd., q 3fio ra dti?

4x+5Y:g

kx+1050

r+. kd fu-{ qn\ S ft! *fi-o-illt d g.q or Yo erBfi-q ro tt
x+5y=2

1o<+1055

ts. qrq dftC fu qqr (x+1)2 =2(x-3) frqro sfi-o-tq t r

16 sfi+-tur x - 1/x = 3, x*0 d {d' Erd dfuC I

17. ftq Eqrd sffii d frfq-fficF-r 56 dfuv ?

(a) x2-3x-10:o (b) 2x2+x-6=o

dgstr0q sr{

re. ft{r qq ol sor{f,r t e-drg fu 4x+6y-18=0, 2x+3y-6=0 W cMA B qr Eqr,ff
t qr wqr<-s t?

rg. s s{ X"f vrrn o1 erg (qql t) or qtmq elt-r erq ri s sE q{qrd urg d qo,r a1
dq tl: B I Bs+t TdqH sTrg oro dfuq I



20. 2x+3y:11 ei}< Zx-+y=-24 ol Ed dfuC at'i {sfr 'm' oT qE qrq qrf, elfuq ffi
fug y=nx+3 dI?

21. q6 ftq 1/3 d qrfr t, qq s*rd it'vr t r qeFrr qrf,T t, eil-s s-6 % d qrfr t, src E{
it e dg f+qr qrdr tt ce ft-q s;6 dfuv ?

zz. ftq sfi-f,{q grq-f o} tfuo H-ffit d g,q t q{d o-r ra otfuq?

(7x-2y) /xy : 5.......................1

(8x+7y) 6-15.....................2

{ffiqsFT
ze. ftq s$-mrq g.c o.r s{rffiq frfu t ra qifuc 

r

5x-6y+30=0, 5x+4y-20=0

z+. Vo qotq qgrJq ABCD q 2g-(2x+4), zn-(y+3), ZC=(2y+10), zD:(4x-5) t r

qr$ oi"r sro dfuq r

zs. ftq tfuo sfi-chr{ur ol ra of r

3x-2Y = g, 2x+Y - 5

zo. qfiotur i-;=r,';.; =s, d ra dtusr

zz. qiq sflfuc fu vfi-ow gw
x+3Y=$

sfii 2x- 3y = ll
rirro tt qR tsr t, d s-€ eFF gr-{r Ed sAfrci



2s. \1;n orf[df6n sFr, fusff Eqrg, N t am eIfufi i, or sftf sRqtq asm t t er.r ot
ffi ero Afuc r

ze. lrfuwnqq ffi gr<r ftq tfufi sft-o-{ur g.r oi ea eaftg ,

7x-lSY=2
x+ 2y=3

30. qfu{enqq frls gm ftq tfufi q$-f,i"r g-c d 66 dfug :

3x-Y:3
9x-3Y=9

ar. sfu{glq{ frfu am ftq tfu-fi qfi-f,{q gw o\ ra dfrg :

,/zx +,/ly: o
y'sx - y'ay: o

(1)
(2)

(l)
(2)

(1)
(2)

sz. d qfrilqT of anq 6'1 3rgca s, z t sil-r B-.rd qd or crgcrf, 4 : 3 tt qR s-dfi
qfu cfr Tfii t 2ooo so qsr Aar t, d B!-+1 crfuo. onq gp6 dfrv I

ee. p d fu-{ qt{t d tdc, frq sffit d g.q or vo erBftq Ed t :

4x+py+8=0
2x+2Y +2:0

s+. goft-q t/zd qrfr t, "rq ssd eicrt r qerqrqrdTt sil'rtr6 t/at\ qrftt qq
aq fr a frs frqr qror tr ce ftq gro otfucr

3s. v6 srr{kT sT e)"s-d s qd qor$ oq d qror t, qR s*r+t dqr$ s gor$ oq or frqffi t Gflr ffi s E-or{ q.ar fr qrfr t r qR Eq dqr{ o) e E-org eilq *9r-{ o\ z
wr$ +.ar t, d'r eias-d oz q,f gorg {d qrdr t t er{n 01 ffi g16 dftv r



36. ftq qq'Fq.r o\ tfufi q++aq d tc t qw dftq 3fi{ fu-r BTS E6{ src o1fug :

ft-g eTnr d ergqFI z qt t zo fuofro ft q-n-fr t ot* ry A cFd-W : E-f fi + fuofro

a-s"E-6-fi t r GA fun qa t ffi of qIFT dqT entr o1 srm srf, dftc t

sz. \'m cle.t crs oi qM d sFd-qd sofuofto qri q d'ri sTeIT qq-q s-0 (fr o\ erm d
ergqd qri fr at srq t z q'a slkr t I qft um o1 qra 2km/hd n\ fux qa t
*rt crs qTET Erd dfrr I

ss. qfr 3 Efr sir z tqorTfl Toos trqR 5 Efr *r s tq 6Trr€r 11oo td r

qff r n-q 6I Ts vr6 dfuv t


